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Tasks

3. Lining up Children (rida) 1 sec / 3 sec 40 points

After a field trip, the teacher needs to line up all children in order to count them and verify that
none are missing. Anyone who has ever had to deal with children knows how difficult this can
be. A child absolutely must stand next to each of their friends, otherwise a riot will soon occur.

Find one possible way to order the children such that all children are satisfied.

Input. The first line of ridasis.txt contains two space-separated integers N and M—the
number of children and the number of pairs who are friends (1 ≤ N ≤ 105, 1 ≤ M ≤ 3 · 105).

The next line contains N space-separated strings—the names of the children. Names are at
most 10 symbols long and consist of only uppercase and lowercase Latin letters and dashes. It
is guaranteed that each child has a name different from the rest.

Then follow M lines, each containing two space-separated names, denoting a pair of friends.

Output. The first line of ridaval.txt should contain SAAB if a solution is possible, or EI SAA,
if it is not. If a solution is possible, output on the second line the list of names in an order that
would satisfy all children.

Example. ridasis.txt
5 3

Bob Carol Eve Dave Alice

Alice Carol

Alice Bob

Dave Eve

ridaval.txt
SAAB

Bob Alice Carol Eve Dave

Example. ridasis.txt
3 3

Regina Gretchen Karen

Regina Gretchen

Gretchen Karen

Regina Karen

ridaval.txt
EI SAA

Grading.

• In this task, only programs that solve correctly at least one test with the answer SAAB get
points for tests with the answer EI SAA.

• In tests worth a total of 25 points, N ≤ 103 and M ≤ 3 · 103, and among them in tests
worth a total of 15 points, additionally N ≤ 10 and M ≤ 30.
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